
xX =)(ω

x

Y

2ωω

y
y

- space2ℜ

S

yY =)(ω

X

y

x0S X

xX =)(ω - line2ℜ

ωω
x

0

S
Figure 5.1

S



Y
2

y

- space2ℜ

y

X0 X
x

area

Figure 5.2



Y

2y

1y

X

1y

cf

0
X

1x 2x

Figure 5.3



Y

1),( =yxF xy

A
4
3
1

A

X

4
1

0
X

2x
2
1

10),( =yxF xy

Figure 5.3



Y

A
Y

X0 X

Figure 5.5



Y
3

1

2
3ω

0 X1 2 3

1
2ω

1ω

SS

Figure 5.6



Y
My

0 X1x 2x 3x ix Nx

2y

1y

Figure 5.7



YY
My

X

1x 2x ix Nx

2y

1y

Figure 5.8



Y

yy Δ+)(Y
y

yy Δ+

yy Δ−

)(ωY

0 Xxω

S )(ωXS

Figure 5.9



)( xf x

0
yy Δ+yy Δ−

Figure 5.10



YY

xy =
1

xy

X

xy =

0 X1x

Figure 5.11



)( xf )( xf x

2

1

x0 x
1

Figure 5.12



)|(| xyf xy

1

x

x−1
1

0 x
1x

Figure 5.13



YY

ω ω=+ yx

X

y

0 X
yx −= ω ω

Figure 5.14



YY

ω ω=+ yx

X

xy −= ω

0 Xx ω

Figure 5.15



)( xf x )( yf y

1

x

a
1

x
b
1

0 xa 0 xb

Figure 5.16



)(f1)(f )( yf Y
a
1)( yf X −

x
b
1

0 x
bω a−ω ωa−

Figure 5.17



)(ωWf

)(f

W

)( yf Y

b
1

x0 x
ba ba +

Figure 5.18



LTI)(xfx )(zfz

)()( zfxh y=∑
X Z

Y

Figure 5.19



1X1X
NX

1

ω 2X
spaceN −ℜ

2X

p

S 3XiX

NX

S

Figure 5.20


